Users Can Improve Essbase
Reporting Performance

Users of Essbase have some control over the performance of a
database and how responsive it is when retrieving data. With
a basic understanding of how Essbase stores data, users can
optimize performance by changing the order of the dimensions
and members in a report.

It might be helpful to read our article on sparse and dense
dimensions. Here is a brief overview:

An Essbase database is comprised of thousands, if not millions
or billions, of data blocks. Each block of data, and its
size, 1s defined by the dense dimensions in the Essbase
outline. The volume of blocks is dictated by the unique
combinations of sparse dimension members. If Time and
Accounts are dense, each block created would hold all the
months for every account. If Organization and Product are
sparse dimensions, there would be a block for each unique
combination of Organization and Product. A block would exist
for Center 10 / Product A, as well as Total Organization /
Total Product. If the outline has 20 members in Organization
and 15 members in Products, the database could have up to 300
independent blocks.

If a report is written to show an entire income statement for
all 12 months for Total Product and Total Organization, how
many blocks would have to be queried? Remember, there is a
block for each unique member combination of Organization and
Product. The answer is one, because there is a block for
Total Organization/Total Product that includes every account
and every member in the time dimension.

How many blocks would be accessed if a report pulled Total
Sales (a member in the Accounts dimension) in January for
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every product? Since the Product dimension is sparse and
there are 15 products, 15 blocks would have to be opened to
return the results.

Here is where your understanding of what sparse and dense
represents will help you improve your reports. Opening a data
block, reading the contents, and closing it, 1is similar to
opening, reading, and closing a spreadsheet. It is much
faster to open one spreadsheet, or block, than 15
spreadsheets. So, if the database retrieves are written in
such a way to minimize the number of blocks that need to be
accessed, or the order in which they are accessed, performance
can improve.

I will agree that if data for all 15 products 1is needed for
the report, all 15 blocks have to be opened. There is no way
around that. That said, often times users will build one
worksheet for income statement and one worksheet for balance
sheet. This means that the report is making two passes on the
same blocks. In theory, it takes twice as long to
open/read/close a data block 2 times than it does once. It 1is
faster to have the income statement and the balance sheet
accounts in one worksheet, which only makes one pass on the
required blocks. One worksheet for Income Statement and one
for Balance Sheet can be created with cell references to the
worksheet that has the retrieved data, if 2 separate reports
are required.

I frequently see another example of a report requiring
multiple passes to the same data block. Using our example
dimensions above, assume product information is required in a
report for multiple accounts.
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The Essbase retrieve above would start from the top of the
spreadsheet and move down the rows to retrieve the data from
Essbase. This cycle would open the Product A block, then B,
C, and D, and retrieve the associated income for each. It
would then have to reopen the same 4 blocks to access
expenses.

The following example, again going from top to bottom, would
access both income and expense while the block is open. The
way this retrieve is setup, it eliminates the need to access
the same block multiple times, yet still pulls the required
information.
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These examples are very small. In a real world example, a
report of this size would not produce significant variances in
the time it takes to retrieve them. Users often have
spreadsheets that are hundreds of rows long and take minutes
to retrieve. In these situations, eliminating the need to
access the same block multiple times can produce notable
improvements in the time it takes to retrieve data from
Essbase.

With a basic understanding of how your database is setup,
users of Essbase can help themselves with some simple changes
to the format of the retrieve worksheet. If access to the
dimension properties in your database is unavailable, ask your
system administrator to supply them for you.



